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Study the following:
526.8 kg —287.93kg=Pkg Qg
What are the respective values of P and Q ?

(1) 238, 87 (2) 237, 88 (3) 814, 73 (4) 87, 238

INTEGER TYPE
Subtract the sum of 325 and —321 from the difference of 321 and —51.

Atrain from Delhi stops at Kurukshetra and then continues to Ambala.The train time from

6 15
Delhi to Kurukshetra is about Z hrs and the time taken from Kurukshetra to Ambalais E hrs.

Find the total time of travel.

A natural number(N) which when divided by 13 gives a quotient of 15 and a remainder of 2.
Find the remainder when the number N is divided by 7.

Sudhir had 3 kinds of books. Number of pages in book 1, book 2 and book 3 are 100, 50 and
9 respectively. He read all the books, so how many numbers of pages did he read?

In given figure all triangles are equilateral triangle and side of largest triangle with 8 units. Other
triangles have been formed by taking the mid point of the sides. What is the perimeter of the
figure.

A

Findthe sumot 2+ 342
N esumo 77777
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A survey was carried out in a certain school to find about the different modes of transport
used by students to travel to school each day. 30 students of class VI were interviewed and
the data obtained was displayed in the form of a pictographs given below:

Mode of
Transpnit Number of students
o0 0o
Scooter '
Public Bus 'BE R
R—— o000 000000
CHROL LS K KX KKNKKNKEKNR
o0 o
Cycle AR
i P N -
Walking RRRKRRRRKER

How many students are using cycle and walking as a mode of travel?

A bag contains 84kg of sugar. If we make small packets of 750gm each, then how many
packets can be made from 84Kg of sugar ?

Additive inverse of -5 is

The sale of electric bulbs on different days of a week is shown below:

Days | Number of bulbs

Tuesday
Wedensday
Thursday
Friday
Saturday

Sunday

= 2 bulbs
How many total bulbs were sold on Tuesday and Wednesday?

The price of 2509 of sugar is ¥ 3. What will be the price of 7 kg 750 g of sugar? (in ¥)
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Giventable show number of apples and oranges eaten by Raju.

o | 'Foten | Eaten
1st June 10 12
5th June 8 6
31st July 7 5

5th August 3 6
10th August 9 2

What was number of Apples eaten by Raju on 31st July?

How many sides does a quadrilateral have?

Ram spent ¥ 8.50 for buying a cake and ¥ 4.50 for buying a chocolate. How much money

did he spend? (in )

Find perimeter of this square given in figure (in cm)

D 6cm C

6cm 6cm

A 6cm B

What should be subtracted from 202.57 to get the greatest 3-digit number ?

What least number should be subtracted from 1234567890807 so that the number becomes
exactly divisble by 5?

8* 9071 is divisible by 11. The minimum value of the missing digit is
What will be the remainder when 458438 is divided by 12 ?
Subtract the sum of -525 and -343 from the sum of -438 and 562 is ?

4 cups of sugar of the same weight weighs 920g. 1 glass of sugar weighs 300g. How much
heavier is 1 glass of sugar than 1 cup of sugar? (in gram)
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. 2 S .
The sum of reciprocals of 15 and 5 is:

The cost of 8 bicycles is Rs. 6376. Find the cost of 1 bicycle.
How many lakhs make a million?

Find the maximum area of square which can be cut off from a rectangle of side 10 cm
by 6 cm.

10

A
v

»
»

AlA
v

10

PART I
SECTION - E : MENTAL ABILITY

OBJECTIVE
If English alphabets are written in reverse order what will be 7" letter to the right of 12" |etter
fromthe left?
1F (2)H (3)S (4R

Choose the perfect venn diagram relation
Bird, Otter and Ostrich

O O
W @ @) @ ®3) O o @ @

Find the mirror image of

N
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How many pairs of letters in the word ' TOWEL' have as many letters between them as in
english alphabet series?
(1)2 (2)3 (31 (4)4

Find water Image of ALLEN
(1) VLL3N @ VITEN (3) VLIEW (4) VLIEN

Find the correct option for the mirror image of the given word.

DREAM E’?

(1MAEAD (2) DA3 AM B)YMA3IAAQ (4)MA3AD

In the following diagram, three subjects opted by student of a class are represented by three
different circle. write the answer for following question

Scince

oy

The area which represents the students who selected math and science only ,not history?
@af (2 g (3) bothfand g 4)d

Which of the following words will come second in the english dictionary?
(1) Study (2) Science (3) Social (4) School

Choose the Venn diagram from following option Which best illustrates the three given classes
in each Questions.

D) 09 ar O~

Engineers,human being,rat
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Find the correct option for the mirror image of the given word.

NEWSE ?
@) ew3an @ MnIawe
@NIW? 4) SW 3N

Choose the correct water image of the given figure (X) from amongst the four alternatives.

)

(1) (2) (3) (4)

Choose the correct alternative that will continue the same pattern and replace the question
mark in the given series.

125, 80, 45, 20, ?

()5 (2)8 (3)10 (4)12

Which of the following diagrams indicates the best relation between Engineers, Doctors and
Cricketers?

) @ Q @) OOO @(Q0) @

Which word will come in the middle if all of them are arranged alphabetically as in a dictionary?

(a) Leprosy  (b) Lessen (c) Lesson (d) Language
(e) Languid
(1) Leprosy (2) Lessen (3) Lesson (4) Language
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both tea and coffee. How many liked only coffee?
(1) 140 (2) 120 (3)80

Find the correct option for the mirror image of the given word.
SILENCE

(DECNELIS  (2)30MalI2 (3) 21131d3

Choose the correct alternative water image of the given word.
GEORGE

(1) GAOEBGI (2) CEORCE (3) CEOECE
What should come in the place of (?) in the given below :
MNOABCPQRDEFST??

(1) GK (2) UG (3) GH

Arrange the following words as per order in the dictionary.

(1) Ambitious (2) Ambiguous (3) Ambiguity
(5) Animals
(1) 3,2,4,1,5 (2)3,2,5,4,1 (3)3,2,154

(4) 40

(4) SILENCE

(4) GEORGE

(4)uv

(4) Animation

(4)3,2,45,1

Which of the following shows the relation between ‘boy, player, student’ ?

(1) @D @ OO0 (3)

%

Which of the following Venn diagrams best depicts the relationship amongst, “Paddy, Wheat

and Rabi-Crop”?

O
(1) (2) (3)

oS
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In each of the following questions, choose the correct water image of the given Fig. (X).

4

Fig.(X)

(1) m 2) % 3) m (4) %

Select the mirror image of the following :

A\

AN @ V @ O @)

If the following four words are arranged in the alphabetical order, which word will come third ?
(1) Crow (2) Lead (3) Flow (4) Desk

Study the following diagram and hence answer the given question.

-~ A — Persons who take tea

|20/ 17 (15\ 30 )4Q O — Persons who take coffee

20 VSZ(O/ [ — Persons who take milk

The number in a geometrical figure indicates the number of corresponding persons.
How many persons take milk?
(2) 100 (2) 82 (3)92 (4)122

INTEGER TYPE
If C =3, CAT =24, MORE =51. In the some way ANT is coded as

Nine friends A, B, C, D, E, F, G, H & | are standing at different positions. C is 2km East of B.
Ais 1km North of B and H is 2km South of A. G is 1km West of H while D is 3km East of G and
F is 2km North of G. I is situated just in middle of B & C while E is just in the middle of H & D.
Find the distance between E and G.
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11,19,39,77,?

There are 13 person sitting in a row facing north direction. Amongs themram and rahim are
sitting at the end of row . if Manoj is in exact middle of that row and Rahim is to the west of
Manojthen-

How many persons are there to the left of manoj. ?

If TOM =48 and SICK =42. Find the value of CATTLE ?

Prakash travels 7 km Eastwards, then he turns right and travels 3 km and further turns right
again and travels 11 km. How far (in km) is he from the starting point?

Write the sum of digit of the number that will continue the following series:-
816, 920, 1024, 1128,

4 person, P,Q,R, and S are sitting at the corner of a square table of side 5 meter. P is sitting
opposite to Q; they all are facing towards the centre, if S is in the left of P,then
If Q wants to talk to P. How much distance he has to cover , If travel along the side of table ?

If“STUDENT” is coded as 14 and “SCHOOL" is coded as 12, then what is the code of “IDEA"?

write the Integer that will continue the following series :-
729,243 81, 27,

Aman walks 5 km toward south and then turns to the right. After walking 3 km he turns to the
left and walks 5 km, Now in which direction is he from the starting place?(answer 1 for North-
East, Answer 2 for South-East, answer 6 for South-West or answer 9 for North-West)

Aarti, Pareeniti, Rupam, Xenos, Sai and Zoey are sitting in arow facing towards north direction.
Sai and Zoey are in the centre. Aarti and Pareeniti are at the ends. Rupam is sitting to the
immediate left of Aarti. How many are sitting between Aarti and Xenos.

One morning Rashmi and Mona were talking to each other face to face at a crossing. If
Mona's shadow was exactly to the left of Rashmi, which direction was Rashmi facing(if '1'
denotes North, '2' denotes South, '3' denotes East ad '4' denotes West),?

Find the correct number that will continue the same pattern and replace the question mark in
the given series.
1,1,4,8,9,27,16,7
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If “DESK” is 39 and “BOOK” is 43, then “COPY”=?

Ram moved a distance of 14 meters towards the north, then he turned to the right and walking
for about 14 metres. Finally he turned to the right and walking for about 14 metre. How many
metres is he from his original position ?

6,12, 24,48, 96,

Study the given information and answer the following questions -
MO P Q,R,S, T,UandV are sitting in a row facing east.

(i) R is on the immediate right of S.

(i) Q is at an extreme end and has T as his immediate neighbour.
(iv) Vis exactly between T and U.

(v) Sissitting third from the south end.

How many members are sitting between T and R ?

If 123’ = ‘Filter hot coffee’ and ‘356’ = ‘very hot day’, then what is the code for *hot’ = ?
Hari moved a distance of 17 km towards the east, then he turned to the left and walking for
about 15 km. Finally he turned to the left and walking for about 17 km. How many km s he

from his original position?

Find the missing termin the given series:
2,3,5,7,7?

Five flower pots L, M, N, O, P are arranged in arow, pot L is to the immediate right of potM ;
pot M is at the centre. Pot O is to the immediate left of pot P and is at extreme left.

How many flower pots are between pot O and pot N?

If F=6 and GOD =420, then GAP is coded as

Find the missing termin the given series:
52,58, 64, 70, ?

Rohan is facing North. He should rotate degree clockwise to see North-East.

* k k k%
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ANSWER KEY
Que. 1 2 3 4 5 6 7 8 9 10
Ans. 3 3 3 2 2 2 2 3 2 1
Que. 11 12 13 14 15 16 17 18 19 20
Ans. 3 22 2 3 6 6 8 20 10 3
Que. 21 22 23 24 25 26 27 28 29 30
Ans. 3 3 2 3 2 4 3 1 1 3
Que. 31 32 33 34 35 36 37 38 39 40
Ans. 3 4 21% 4 1 4 3 3 4 3
Que. 41 42 43 44 45 46 47 48 49 50
Ans. 2 1 3 2 4 3 1 3 2 1
Que. 51 52 53 54 55 56 57 58 59 60
Ans. 4 4 5 3 2 2 4 2 2 3
Que. 61 62 63 64 65 66 67 68 69 70
Ans. 2 4 1 2 3 1 3 4 3 2
Que. 71 72 73 74 75 76 77 78 79 80
Ans. 3 2 2 3 1 4 1 2 3 3
Que. 81 82 83 84 85 86 87 88 89 90
Ans. 4 3 4 3 1 368 4 hrs. 1 159 42
Que. 91 92 93 94 95 96 97 98 99 100
Ans. 1 11 112 5 24 93 7 4 13 24
Que. 101 102 103 104 105 106 107 108 109 110
Ans. | -796.4 2 1 2 992 70 1 797 10 36
Que. 111 112 113 114 115 116 117 118 119 120
Ans. 2 4 2 3 2 3 1 2 4 1
Que. 121 122 123 124 125 126 127 128 129 130
Ans. 2 1 2 1 4 2 3 2 3 4
Que. 131 132 133 134 135 136 137 138 139 140
Ans. 3 2 1 3 4 35 2km. 139 6 61
Que. 141 142 143 144 145 146 147 148 149 150
Ans. 5 8 10 8 9 6 3 1 64 59
Que. 151 152 153 154 155 156 157 158 159 160
Ans. 14m 192 3 3 15km 11 3 112 76 45
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